(20)

wEge wF e RerR cvae [{e
S SN STl T |

() What is market failure? Discuss the
different causes of market failure.

WA e T {7 wR Reeer (s
IR SCE 41 |

Or / S%-1
What is social welfare? Discuss how

social welfare can be increased by
a welfare government.

TR e o 9% IR AR
e Feme s 3 FRI G, 000 F41 1

(d) Discuss graphically the excess burden

of tax. Mention the factors influencing
the excess burden of tax.

IR ARE @R (R fid  TERIE
HC 791 | F9 e Qe defie 1
FRPR Seay F41 |

Or / F%I
Analyze the major reforms for indirect
taxation in India recommended by the
Tax Reform Committee.
FEH FW IR SROS F ER IO
ARG A4 SRR A 1 |

* %k
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(2)

() What does ‘NABARD’ stand for?
‘NABARD’ f 361 7

(d)  What is meant by balance of trade?
AT @R SRR g ?

(e) Deiine foreign investment.

ke RiveneR ke fra |

() Mention one source of non-institutional
agricultural credit in India.

SHeS b1 FHR I 4 S 7 SeEy
R

(99 What was the main object of economic
* reform introduced in India?

SR WK T SAAGT TERA T T
& rfee 2

(h) Write the full form of MSME.
MSMES 7} F#iCol &7 |

() Which institution does  control
international trade of the world?

3R SRR A G afedi g
T2 .

() What is meant by import substitution?

e s Jferce 6 e 2
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The figures in the margin indicate full marks
Jfor the questions
Answer the questions from any one Option
OPTION—A y
Paper : ECO-RE-6016
( Economic Development and Policy in India—II')
1. Answer the following questions : 1x10=10
©o oPPRA Sed i :
(a) What is meant by crop diversification?
=1 Rideeaa e o game
(b) What is the minimum support price
(MSP)?
e SRS 71 2
A25/595 g ( Turn Over )
(3)
2. Answer the following questions : 2x5=10
u3
S worq eppryRd Te i :
=1
S (a) Mention two important features of
3 land reforms in India.
te e
2 4 SRAT $f R W01 eFeey S @FE S
2 Sall
X
{3
=
) (b) Distinguish between foreign direct
= investment and foreign institutional
(&}
7 investment.
—
(0] SO RO R S SFRIfe Rehie
RffcrR e 2771 A fs o
(c) Write two main objectives of Viksit
Bharat@2047.
R SHe@20473 11 241 Sowe o |
(d) What is disinvestment? Why is it done?
fARfcast 2 2 o1 51 202
(e) What is meant by farm mechanization?
FRA A & @2
A25/595 : ( Turn Over )




(S8)
3. Answer any four of the following
questions : 5x4=20
o PR R el BifReR T f ¢

(a) Explain the role of agriculture in

India’s economy.

SR Hefee $RA PR T S
90

(b) Explain the main causes of Industrial

()

(@)

A25/595

(b)

()

A25/595

Reforms in India undertaken in 1991.

3553 B S N S MREE I3
JRPTR AT 31 |

What are the
agricultural
Discuss.

major

marketing in India?

SEee I RAFE I0 R & 62
ST 7 |

Briefly explain the export promotion
measures undertaken by the
Government of India in recent years.

problems of

ST TES TR 5N TOS CERT IS

IS TEEPTR BYLP ST 1 |

( Continu.

(6)

Explain the main features of
agricultural price policy in India.

SRS R T T aqm RHEPTER Sl
91

Or / 931

Discuss the role of cottage industries
in India. Also, mention the challenges
faced by cottage industries.

e $h9 PR pRF SRED 101 A0S
IO 52 TR (1 ATZFPHR SeEd 397 |

Explain the various
industrial finance in India.

SRed 8o feq e Seopmz S
Lol

sources of

Or / 5341
Discuss the major objectives and
features of the Industrial Policy of 1991.

3585 e St MR Y W W
CRBPRR S 34 |

ed )

10

6+4=10

10

( Continued )
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(e)

Answer the following questions :

(5)

Explain the impact of globalization on
the Indian industrial sector.

SO STIPT YT (IERIFIN dOR 1
Q01

Discuss the impact of privatization on
India’s public sector.

TRERR A (ST SRS ISTOFIH gSR
AT 41 1

o PR T i -

(a) Discuss the factors responsible for low

(@

A25/595

agricultural productivity in India.
SRed PRY P SMEAEOR  PRPER
SICEADAT 4T |

Or / J%T1
Discuss the trends in agricultural
‘production in India since Independence.

FAToR Pie oHed $R TeArm | SfeuN
Spic Sl 1

{7)

Discuss the major causes of India’s
trade deficit and suggest measures to
reduce it.

SRS e qbq I3 FEPTHR S 41
S R ZPR AT SRR SSRKCEH |

Or / 52A[1

Explain the impact of WTO Agreements
on India’s agriculture and industry.

SIS 3 WF TR €7 S WTO pReTgRs
SIS 7101 1 |

10x4=40

10

( Turn Over )

10

( Turn Over )




(8) (9)

=y
OFILONE ,%} Mention one non-institutional source
Paper : ECO-RE-6026 &: j of rural agricultural credit.
[ Economic History of India (1857-1947) ] E‘f S AR R B S-SR ST AW S
Esin T
1. Answer the following questions : 1x10=10 E:. g
— Taq fim -j () What is primary sector?
Q8  adfsvefe
(@ Who did introduce the Zamindari ~ 2
system in India? E Y Mention one cause of poor
3 i industrialization in India during the
SRS (I WA 22 o #fe 2 G British period.

() Who is the author of the book, fifbeq =PFR RO SROS  SCUERIN
Poverty and Un British Rule in India? ATOR <1 FRT T 1 |

Poverty and Un-British Rule in India (h) What is meant by famine? ¢

o @ @2 R .
© Mer;txon A4 twlo di c?imn.-lercxi BCftij; (i) Write one characteristic of international
prc;iol.;ce i ncle e e‘ Fas trade of India during the British period.
pe b :
Rt 350 Sey WBRIZT ST GO FE
Riftes o sHwe Serifre 761 TfRTe 9 ﬁ,m“i
N Sy 0

() Which year is known as the Year of
Great Divide’ in the population history
of India?

SHRO] PR 2fO2PTS (PO IWE Year

of Great Divide’ Ji=l 311 VX 7

(d) From where to where was the first
railway line introduced in India?

SRS AN @EHY FI 2R_ F 0 A (2= 2

A25/595 ? Continued
/ (Congaed) A25/595 ( Turn Over)
(10 ) (11 )
2. Answer the following questions : 2x5=10 3. Answer any four of the following
: o 2P e i - questions : 5x4=20
B SPAIRS R CRICT BIRoR S e -
(a) State two problems of estimation of :(é‘l i 1
national income of India during the ?"‘ ) Lt = t}'xe pro.blems'of agI1CU1'f1‘1.ra1
pre-Independence period. & o 6’ marketing in India during the British
rule?

FRTOR A TS SHeq WeH U i i‘_’

51 Y01 ST SeEd <A1 | (e B R e eRee IR R 5 R
= = e

(b)) Write two causes of slow growth of ey Q
population in India during the = 32’) Write a note on land settlement policy
British period. ~! & of India during the British rule.

P
Riftr P10 SRT® SR GTRTE &S 700 ""2’:3 fifte e TS SReY $R AT eme bl
2199 for31 | - ORI fR
(43

(c) What was the guild system? () What were the causes of destruction

e TR 5 SHfee 2 of Indian handicrafts during the
B British rule?

(d) Mention two sources of capital flows Rtz *PFR e SOl WRF KT @RR
to India during the British rule. 4 Wmﬁﬁs? ;
fifbr *PR IS SRS o ST 7ol
e Seg 91 | (d) Explain briefly the impact of

commercialization of agriculture on
(e) Write two types of colonial exploitation ) Indfan economy during the British
in India. period.
SRes 2 OPRd @R oRew R Rftr P SREW MR eRe TR
il ; ] MARGFRER AoRS RIF T =01 41 |
( Continued ) A25/595 ( Turn Over )
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(12)

(e) Write a note on development of
Railway Transport in India during the

British period.
fiffr o oo @@ “ARRE ferd s7Te
&1 BT ford |

() What were the causes of economic
drain from India during the British

period?
fifoz, 3910 ST “RI WAfST FofTe TR
= 1 wrifeet 2
4. Answer the following questions : 10x4=40
W 2RCARE Teq frea
(a) Explain the impact of the British
colonial rule on the Indian economy.
SRo wLAifet eoqe ity 8aifiafe e
SRR INTI IS
Or / S=[1
Discuss the ‘Drain of Wealth’ theory.
g ST @ gl SCEsHT 3T |
A25/595 - ( Continued )

(fdld)

(d) Discuss the state of Indian foreign trade
on the eve of Independence.
AR RIS SROE (AR JiEE
wRER RAG SHICEsAl 41 |

Or / S%{1

Describe what types of fiscal policies
were undertaken by the government

under colonial rule.
QAERE WP TS BRI (TR
IR A 212 FRfRe G Ry 36 0 |

( Continued )

(13)

(b)) Explain the occupational structure
of population of India during the

LL?ritish period.

< u(?@ﬁi{ﬁm I TEPRIF Jfere AR

7=
Or / 5351

O
>
e
% Write briefly about credit, commerce

(&) 4 and technology in India during the
i =2 British period.

o

g o= o S 9, Aiter o e R

; SR o7 | ]

(c) Explain the emergence and growth of
Indian capitalist enterprise during the
British rule.

&R rRe e SO Af|R SoR SUM
e 3 fac Qo 34 1

Or / <1
Discuss the problems of backwardness
of India during the British period.
fiftr o SEeT wPReN IR R¥A
HICAAT 4T |

A25/595 ( Turn Over )

(15) !
Ni.L.C. LIBRARY
opﬁig,‘_Q%OUDHUR‘:’ COLLEGE

Paper : ECO-RE-6036

( Public Finance )

1. Answer the following questions as directed :
1x10=10

S PG AR e i
(a) What is public goods?
qeed 93 2

Which is the largest source of tax
revenue to the Government of India?

SIS AP P9 62T IS BT 6 2

Who is the Chairman of the 16th
Finance Commission?

T R8N SR ST @ 2
What do you mean by deficit budget?
ifb ACEs A [ @02

Give an example of non-tax revenue.

SRS 1929 GOT SHrzae i |

(b)
(©

(@)

(e)

()’ What is incidence of tax?
3 OB Q@ 2
A25/595 ( Turn Over )
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(16 )

(g) Who appoints the Comptroller and
Auditor General of India?

SRS o Fages @i e fic 2
(i) The Prime Minister of India
SReq d4EAa
(i) The President of India
SReq AR
(iii) The Chief Justice of India
SRS T TR
(iv) The Parliament

R
(Choose the correct answer)

(% Te0h! MR Sfered)

The concept of merit goods is given by
AR TR YR Ter SRR
(i) Samuelson /(G0
(i) Dalton /(S5
(i) Richard Musgrave/[=é J=ee
(iv) None of them /2 &G T2

(Choose the correct answer)

(w TRl MR Tferea)

(H)

( Continued )
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(18 )

() What are the prime objectives of fiscal
federalism in India?
SReS T JSITT TIER A4H TRPHR
& fe2

(d) Distinguish between money burden and
real burden of tax.
BRI GRS HE AFO @EE SO A%<y
o 41 1
(e) What is externality?

AR 2

3. Answer any four of the following
questions : 5x4=20
o PR R e Difor s e :

(a) Discuss briefly the different stages for
preparing a government budget.
SRl 0D 43 2 A RfSH TR TE
DAl 4 |
(b) Distinguish between revenue budget
and capital budget.
o A W T Can A A1 [
Eaill

Briefly write the major challenges to

(¢
India’s tax system.
TN 99 JRER 4 ASRIPHR LT |

(i) LLsWhich
(G

(17)

do  you consider
tolthe

one
payment

compulsory

LN
== _J government?

-:};
-
=

‘1’&"

Al-.
e7y
traby ¥
—

~

Q

~

2

=

]
o R

3 O

Y

x
=

<L
Q
=3
O
25
O

-

P GPRCE HRG AerEe [ed I

SR1? ;

() Fees/p

(i) Price /¥

(i) Tax/FI

(iv) All of the above/@”<q SBIRCF26!
(Choose the correct answer)

(%= Taeh! MR Sferean)

The cannon of elasticity of taxation is
laid down by
I EfSmemer TS @ Term %ﬁ&a 2

(i) Bastable /32034 4

(i) Adam Smith /S g

(iti) Dalton /(a6

(iv) Shirras/fz3=

(Choose the correct answer)

(% Teech! <ifR Sferear)
Answer the followmg questions 2x5=10
o5q Zﬁlﬂ‘ji‘q
(a) What do you mean by monetary policy?
Hfes S e & 312

(b) Mention two characteristics of public

good.

&N G99 701 CafE S 91 | :
( Turn Over )
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(d) Briefly mention the advantages of Goods
and Services Tax (GST).
TR WF GW F9 (GSTR RUPTR FIF
Sead 90 1

(e) Briefly mention
Gram Panchayats.

aNé “1eres (IMEPTR YT S 91 |

() Write a brief note on Pareto efficiency.
CONITHT RO @S BT 5 (Bl fo7si |
10x4=40

4. Answer the following questions

O PR Ged fil

: (a) Discuss the main features of India’s

tax system.
SREW ¥4 ITER T EFEPTR e 4 |
Or / S%71
Discuss the objectives of fiscal policy.

R NI SRR ST 7 |

Discuss the different methods for the

the features of ’

G

(b)
repayment of public debt.

el 49 ARemE [a ReHR SeEmwl

01
Or / J<R1

Discuss the role of Finance Commission

for inclusive and equitable economic

growth.
( Turn Over )
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